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1 .25 0 .25 .5
2 0 0 0 1
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=
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PRINT(INDEX/100000) (IEREAEFE2H UM 7)
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B2 100 gAML R 4% BE P 22 [m] B 58 (% 8 i SRR ALY 100 BRI T RE R
F9) « e AfS 2 55 5 A A0 A B BS IE (R (2 2 - BRI E @ R i BAE S T — RV E 8 G R A Al

HEEBTRR - FFERE S L AR R PTHYRER -

mﬂ

2 E INDEX=0 > Fj 2R 4C 8% B % ] DA% IR R FIHI R B
#ITHERE 100,000 X
R E TIMES=0 - FIZRECHBEBBNEDE
& POSITION=0 > RREEFENRBAE
BT
RAND=FE[§EHH {-1,1} EE&TEHN—EET
POSITION=POSITION+RAND
TIMES=TIMES+1
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BB 3)
BEWHAT
RAND=E KA {-1,1} E&FEHN—EHF
POSITION=POSITION+RAND
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IF POSITION=-3 OR POSITION=10 > EE#TLIE (SFHEES
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ELSE » INDEX=INDEX

& R A
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T

5 e
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E
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